Unification Exercises



Ex. 1

[cat: N
num: pl

(=



EX. 2

[cat: N
num: pl

Jul

cat: N
num: sg

]



Ex. 3

[cat: VJ IJ[per: BJ - 7
num: pl



EX. 4

[cat: VJ IJ[per: 3 J - 7
num: pl num: sg



EX. 5

(cat: S A
subj: [Cat: N J
num: sg J

-

IJ[c:at: NJz 2



EX.

/

-

6
cat: S
sub: [

cat:

num: sg

LI

N

\-

\

)

" obj: [

cat: N
num: pl

5

J




Feature Structures as Graphs
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Unification Algorithm

* An algorithm Is a series of clear steps or
iInstructions that carry out the job at hand
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Unification Algorithm

* An algorithm Is a series of clear steps or
iInstructions that carry out the job at hand
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Ex. 8a : does the algorithm work here?
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